T ANSEES H 3 KB R A R

1% #* 18 H KB WA nl Ee HH H it
7 P A 5H22H
B K 5 i TR | P DR R Tt 1 5 R i i ol
= wmc 18.5 18.5 19.0 19.0
I woC 10.5 12.0 13.0 12.0
7% % 1 #| mg/o 0.20 0.22 0.24 0.46
— i 4 =,/mo 0 1 0 0
X I Ak KR kR AR
Wt w4 A | me 5.7 54.8 38.7 2.8
HHE (BAHERE (TOC) DR | me/o <0.3 <0.3 <0.3 <0.3
p H | pH 6.8 6.9 6.8 7.3
S YA R YA R
B A HEL WL HEL HEL
o I <1 <1 <1 <1
% o <0.05 <0.05 <0.05 <0.05
LT ACBYAF L RO T me/e <0.001 <0.001 <0.001 <0.001
1 % | me/e <0.06 <0.06 <0.06 <0.06
a o 0 i | me/o <0.002 <0.002 <0.002 <0.002
y m w & & b mghe <0.0001 <0.0001 <0.0001 0.0002
v s v oo g | megl <0.002 <0.002 <0.002 <0.002
vy 7w xsuan Ay mgh <0.0001 <0.0001 0.0001 <0.0001
5 % | me/o <0.001 <0.001 <0.001 <0.001
“w b U o~ om A 4 | mee <0.0001 0.0002 0.0004 0.0003
N U 7 v oo i m me <0.002 <0.002 <0.002 <0.002
7w x vy suani4 ] me <0.0001 <0.0001 <0.0001 0.0001
7 x4 A 4 mee <0.0001 0.0002 0.0003 <0.0001
x L A 7 A F b KN mgh <0.008 <0.008 <0.008 <0.008
TAI=U AR OZF DAY me/e <0.01
% Rk O = o £t & 9 mgh <0.01
~ AR OE DA W me/ <0.001
vy h < vy nE (EE)| me/e 205.0 179.0
% o0x% % ® | men 455 367
IV T NARY U SRR AR A
7 K E 5H8H
P X 5 E vE K IR BRI BB 15 | B2 R | SRS s T | R4 T
& wC 13.0 13.0 12.0 12.0 12.0 12.0
K W C 9.5 13.0 12.0 12.0 11.5 11.0
e E R (7 LY 2 ) AR H A H Ak AHRH Ak AR H
PN 7 MPN/100ml 0.0 0.0 0.0 0.0 0.0 0.0
7 A H 5H17H
1 K % 2] FT 5 BT IO I I3 e
£ wooc 18.0 20.0 20.0 20.0 20.0
X w O C 11.5 10.5 10.5 11.0 13.5
PEAE R (7 LY 2 ) K HY A H Ak Ak H Ak
K 5 MPX/100ml 0.0 0.0 0.0 0.0 0.0




